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(For the candidates admitted from 2012-2013 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2017.
Fifth Semester
Physics
SBEC — DIGITAL ELECTRONICS
Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Convert (29),, to its equivalent excess — 3 code.

(29)camenfllng <isHE Haymer Excess — 3
GOILTE LTHDE.

2. Draw the logic circuit of two input OR gate and
construct the truth table.
Quan® o erafBser Qamawr. OR ecumielen siss
gpenm euemys Ced Sigear Gl <L eiameareu
DS

3.  State associative laws of Boolean algebra.

yellwer gevgdlipmeilen Lflwrhmn e smarnd snms.

10.

Simplify the Boolean equation Y = AB + AB.

Y = AB + AB e Ly eSlWI6T FLDGHTLIML_anL_ &(15&Es.

What is an encoder?

TCSHITLIT GTETD TeD 6T ETET?

Draw the logic diagram for a half adder.
R(H SieT& sl L eleln H1Es eUaMTLIL LD eUanTs.
What is a shift regiéter?

Quuwitey uglell erampmed eremen?

Draw the circuit diagram of a R — S flipflop using
NAND gates.

NAND amQdosmens vweau@sd ¢m R — S

er(p — &9l SEDHMET QUEMTLILLD U

What do you mean by synchronous counter?
Rogwss eramenflenwics L Bl idleus ereman?
What is a binary ladder?

FFITIq LDITGRT GF 6wt GTGIMITey GTesTent?

2 S.No. 2060



11.

12.

(a)

(b)

(a)

(b)

PART B — (5 x 5 = 25 marks)
Answer ALL questions.

Convert the decimal number 425 into octal
and hexadecimal numbers.

425 @b HoWw erawTepeRT, 6T L igloman LoHmit
LSl Sl LOTEsT Grezfcr&a}rras LOTH M.
Or
State and prove De-Morgan’s theorems.
le. WTiE6T CohpmiIsmaT gar HlenhAss.

Simplify the Boolean expression.

Y=ABC +ABC + ABC + ABC .
Y=ABC +ABC + ABC + ABC erem
yedlwien Cameneusaner & (mhéEs.

Or
Find the minterms for the following
@) A+Band (ii) A+BC.
ST M6 @5 LOGTCLITD Sam®y &6.

() A+B wpgyw (i) A+BC.
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13.

14.

(a)

(b)

(a)

(b)

Construct full adder circuit and explain its
working.

s ahl_'_l_eb.s;rj)emg) Smwsg 2ig Ceuame

Qewiuyb elgsams eflarsEs.

Or

Explain the function of seven segment

decoder.

g 9y ehted Camabsiyb Assms
eflemé @, .

Explain the working of clocked RS flip flop.

5ﬁevuu®§;g,uuLL R-S erp - el smm Ceuanew
Gewiuyid elssms alaréss.

Or

Explain the function of a 4 bit shift left side

register.

4 9 @uiuss @Luluuie) uded Ceouma

Qewiuyb elssems efeufl. ,
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15.

16.

h 37

18.

(@) Explain the working of a D/A converter with
a block diagram.

@m D/A wmpf Came Qelwyn dssos

sl UUL gL 6 6llen&EEs.

Or

(b) Discuss the function of asynchronous

counter.
gsdussloor el  Ceume  GFLuLd
dgsms elleundlés.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Show that NOR gate is an universal gate.
NOR aumuév g &ireu cumuiled erens s (His.

Simplify using K map :

Y = F(A,B,C,D) =%(0,1,2,4,5,10,11,14,15) .

K cuenguL_1b ppeoid &m&ESS

Y =F(A,B,C,D) = 2(0,1,2,4,5,10,11,14,15) .
Construct a decimal — to — BCD encoder and
explain its working.

g5 aamoan BCD s wmpgnd aaGam ey
Siowss1ig Cauma Qe dlssms allaTsEs.

5 S.No. 2060 -

19.

20.

Explain the working of master slave JK flipflop.

JK erggomen - Sjgenn Hlenewmbludler Geweuim’igamen
aler& 5.

Describe the function of a  successive
approximation A/D converter.

Qg Camymu A/D wrdl Geuemer Geiubd allgsms
aflauff. '
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